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1. ROBWNCEZESL,

(1) x+y=3, xy=-100 & &, x> —xy+y’ OfEzkd X,

(2) x+y=—4, xy=150L =, x> +xy+ Yy’ OfzRD X,

(3) a—b=7, ab=-120t xa’—ab+b’> D%k k.

(4) x—y=3, xy=-40Lx, X -5xy+y OfizRw Xk
(5) x+y=—6, xy=8mrx, (x—yfofizkwk,
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(6) a—b=6, abzgméa (a+b) offiz sk X,

2. WOMWIZE RIS,

(1) x+y=-5, X’+y* =130t =, xyofEzkd X,

(2) x+y=-2, xy=-1DL &, 3 +2xy+3y* DIEERD KL

(8) X+S=Bmlxx+ = offizkibk,
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3. Xx—y=5, xy=-3D &, X, WOKXDMEERD L,

(1) x*—4xy+y? (2) x2+y?
(3) (x+7y)(Tx+Y) (4) 1.1
Xy

(5) x*+y*




<R >
1. (D (x+y)*—3xy=39 @ (x+y)’ —xy=1
(3 (a—b)*+ab=37 (4) (x—y)*—3xy=21

6) (x+y)P-dxy=4  © (a—b)2+4ab:%

2. () X4y’ =(x+y)’—2xy LY xy=6 (2) 3(x+y)> —4xy =16
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@) | x+=| =36L0 x +—=34
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3. (1) (x-y)’—2xy=31 (2 (x—y)*+2xy=19

(3) 7(x—y)*+64xy=-17 (4) §_1:§
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(5) x*+y*= (x2 + yz)—2x2y2 =343



